Estrichberechnung Arbeitsblatt @

1" Flachen und Umfange

/immer 1 U A
A = 485 % 277 + 107 * 0,22 = 13,67m°
U=(485+9277) 2 +

0 % 0,95 = 15,74m

/immer 2
A = 4,43 * 3,42 - 115 * 0,65 -

0,65 * 036 + 1,77 * 0,22 = 14,56m°
U = (4,43 + 3,42) * 2 +
0,25 * 2 = 16,20m

Limmer 3
A =435 * 307 + 107 * 0,22 -

0,65 * (1,035 + 1,735) / 2 = 12,69m°

U =435+ 307 + 370 + 1,035 +
40,652 + 0,702 + 1335 +
2 % 095 = 14,95m
\/OfdelTl
A =217 % 3,07 + 0215 * 227 -
0,65 * (1375 + 2,075) / 2 +
3 % 0,80 * 0,3 = 6,34m”
U = 0,095 + 217 + 3,07 + 0215 +
1735 + 1375 + 40,652 + 0,70% +

6 % 095 - 3 % 080 = 9,62m
56 5Im 47 26m°
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